



St. Louis County, Minnesota

Date of Report: 12/15/2025 9:59:09 AM

General Details

 Parcel ID:
 450-0010-04620

 Document:
 Abstract - 01314991

Document Date: 06/20/2017

Legal Description Details

Plat Name: MIDWAY

SectionTownshipRangeLotBlock304915--

Description: E 1/3 OF NW 1/4 OF SW 1/4 EX RY R OF W 2 14/100 AC

Taxpayer Details

Taxpayer Name BUFFALO VALLEY HOLDINGS LLC

and Address: 2590 GUSS ROAD

PROCTOR MN 55810

Owner Details

Owner Name BUFFALO VALLEY HOLDINGS LLC

Payable 2025 Tax Summary

2025 - Net Tax \$14,132.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$14,132.00

Current Tax Due (as of 12/14/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$7,066.00	2025 - 2nd Half Tax	\$7,066.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$7,066.00	2025 - 2nd Half Tax Paid	\$7,066.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 2586 GUSS RD, DULUTH MN

School District: 704

Tax Increment District:
Property/Homesteader: -

Assessment Details (2025 Payable 2026)									
Class Code Homestead Land Bldg Total Def Land Def Bldg Net Tax (Legend) Status EMV EMV EMV EMV EMV Capacity									
205	0 - Non Homestead	\$30,800	\$188,500	\$219,300	\$0	\$0	-		
233	0 - Non Homestead	\$117,000	\$750,900	\$867,900	\$0	\$0	-		
111	0 - Non Homestead	\$5,800	\$0	\$5,800	\$0	\$0	-		
	Total:	\$153,600	\$939,400	\$1,093,000	\$0	\$0	19407		





St. Louis County, Minnesota

Date of Report: 12/15/2025 9:59:09 AM

Land Details

 Deeded Acres:
 12.53

 Waterfront:

 Water Front Feet:
 0.00

 Water Code & Desc:

 Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		ı	mproveme	nt 1 Detai	Is (RESTAURAN	NT)	
Improvement Type Year Built		Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
	RESTAURANT	1970	5,84	14	9,684	-	RES - RESTAURANT
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	4	12	48	FLOATING	SLAB
	BAS	1	6	18	108	FLOATING	SLAB
	BAS	1	8	11	88	CANTILE	VER
	BAS	1	12	60	720	BASEME	NT
	BAS	1	20	52	1,040	FLOATING	SLAB
	BAS	2	8	60	480	BASEME	NT
	BAS	2	56	60	3,360	FOUNDAT	TION
	BMT	1	0	0	1,200	FOUNDAT	TION
	BMT	1	18	24	432	FOUNDAT	TION
	DK	1	0	0	933	POST ON GR	ROUND
	DK	1	9	17	153	POST ON GR	ROUND
	DK	1	16	30	480	POST ON GR	ROUND

	Improvement 2 Details (SHWER BLDG)									
Improvement Type Year Built		Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
	UTILITY	2002	2,50	00	2,500	-	EQP - LT EQUIP			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	1	10	18	180	FLOATING	SLAB			
	BAS	1	40	58	2,320	FLOATING	SLAB			

Basement Finish	
Dasement Finish	Style Code & Desc.
-	LT - LT UTILITY
Foundati	on
FLOATING S	SLAB
FLOATING S	SLAB





St. Louis County, Minnesota

Date of Report: 12/15/2025 9:59:09 AM

		Improveme	ent 4 Deta	ails (NXT TO B	AR)		
nprovement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code				Style Code & Desc.			
HOUSE	1965	506		506	-	BNG - BUNGALOW	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	2	13	26	CANTILEVER		
BAS	1	2	24	48	CANTILEVER		
BAS	1	18	24	432	CANTILEVER		
DK	1	8	23	184	POST ON GROUND		
Bath Count	Bedroom Co	unt	Room (Count	Fireplace Count	HVAC	
0.75 BATH	2 BEDROO!	MS	-		0	CENTRAL, PROPANE	
		Improve	ment 5 D	etails (RENTAI	_)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	1966	52	8	528	-	1S - 1 STORY	
Segment	Story	Width	Length	Area	Founda	ation	
BAS	1	16	33	528	POST ON C	GROUND	
CN	1	4	9	36	POST ON C	GROUND	
DK	1	4	7	28	POST ON C	GROUND	
DK	1	7	15	105	POST ON C	GROUND	
DK	1	8	12	96	POST ON C	GROUND	
Bath Count	Bedroom Co	unt	Room (Count	Fireplace Count	HVAC	
0.75 BATH	2 BEDROO!	MS	-		0	CENTRAL, PROPANE	
		Improve	ment 6 D	etails (RENTAI	_)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
HOUSE	1970	52	0	520	U Quality / 0 Ft ²	HOG - HS OVR GAR	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	20	26	520	SINGLE TUCK UN	IDER GARAGE	
DK	1	4	12	48	POST ON C	GROUND	
DK	1	8	26	208	CANTILI	EVER	
Bath Count	Bedroom Co	unt	Room (Count	Fireplace Count	HVAC	
0.75 BATH	2 BEDROOF	MS	-		0	CENTRAL, PROPANE	
		Improveme	ent 7 Deta	ails (BEHIND B	AR)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
MATERIALS STORAGE	0	91	I	91	-	MC - MATL CLSD	
Segment	Story	Width	Length	Area	Founda	ation	
BAS	1	7	13	91	FLOATING	G SLAB	
		Improv	vement 8	Details (ZBO)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
GAZEBO	0	64	1	64	-	-	
Segment	Story	Width	Length	Area	Founda	ation	
BAS	1	8	8	64	POST ON C	GROUND	
		Improve	ement 9 [Details (PATIO)			
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.							
Improvement Type	2021 2,240 2,240 - PLN - PLAIN S						
Improvement Type	2021	2,24	40	2,240	-	PLN - PLAIN SLAB	
Improvement Type Segment	2021 Story	2,2 ² Width	40 Length		- Founda		





St. Louis County, Minnesota

					Date of Report	: 12/15/20)25 9:59:09 AM	
		•	40 D-1-'1- /I					
	.,	•	ent 10 Details (F	•				
Improvement Type Year Buil							Style Code & Desc.	
PARKING LOT 2024		53,6		676	-		ASPHALT	
Segme BAS		-		Area	Foundat	ion		
DAS	5 0		· · · · · · · · · · · · · · · · · · ·	53,676				
			ent 11 Details (U	IPPER LOT)				
Improvement Ty	•	t Main Flo	oor Ft ² Gross A	Area Ft ² Base	Basement Finish Style Code &		Code & Desc.	
PARKING LOT	2024	48,1	10 48,	110	-	Α -	ASPHALT	
Segm		•	· ·	Area	Foundat	ion		
BAS	0	0	0 4	48,110	-			
		Sales Reported	to the St. Louis	County Auditor				
No Sales informa	ation reported.	•		•				
		A	ssessment Histo	ory				
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax	
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity	
	233	\$88,700	\$455,400	\$544,100	\$0	\$0	-	
2024 Payable 2025	111	\$20,000	\$0	\$20,000	\$0	\$0	-	
	Tota	\$108,700	\$455,400	\$564,100	\$0	\$0	11,082.00	
	233	\$85,900	\$395,200	\$481,100	\$0	\$0	-	
2023 Payable 2024	111	\$18,700	\$0	\$18,700	\$0	\$0	-	
	Tota	I \$104,600	\$395,200	\$499,800	\$0	\$0	9,809.00	
	233	\$47,700	\$211,600	\$259,300	\$0	\$0	-	
	111	\$16,400	\$0	\$16,400	\$0	\$0	-	
2022 Payable 2023	232	\$33,500	\$146,800	\$180,300	\$0	\$0	-	
	Tota	\$97,600	\$358,400	\$456,000	\$0	\$0	7,153.00	
	233	\$47,700	\$211,600	\$259,300	\$0	\$0	-	
	111	\$16,400	\$0	\$16,400	\$0	\$0	-	
2021 Payable 2022	232	\$33,500	\$146,800	\$180,300	\$0	\$0	-	
	Tota	\$97,600	\$358,400	\$456,000	\$0	\$0	7,153.00	
		1	Tax Detail Histo	ry				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Build MV		al Taxable MV	
2024	\$13,076.00	\$0.00	\$13,076.00	\$104,600	\$395,200		\$499,800	
2023	\$9,938.00	\$0.00	\$9,938.00	\$97,600	\$358,400		\$456,000	

2022

\$11,096.00

\$11,096.00

\$97,600

\$358,400

\$0.00

\$456,000





St. Louis County, Minnesota

Date of Report: 12/15/2025 9:59:09 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.